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API 9914 GPIB
gp_attach REX5052
gp_detach REX5052
gp_cardinfo REX5052
REX5052
OutPort REX5052
InPort REX5052
GPIB
gp_init REX5052
gp _cli IFC TRUE
gp_ren REN TRUE
gp clr CLR sDC
gp_wrt GPIB
gp_red GPIB
gp_trg GET
wsr SRQ 1
gp_wsrgb SRQ (
gp _rds
gp_rdsl
gp_srq SRQ
gp_lcl GPIB
gp_llo LLO
gp_tmout




gp_setdelay

gp_count

gp_delm

gp_tfrout

GPIB

gp_tfrin

GPIB

gp_tfrinit

GPIB

gp_tfrins

GPIB

gp_tfrend

GPIB

gp_wtb

gp_myadr

REX5052

gp_wait

gp_srqCheck

SRQ

gp_wrtd

GPIB

gp_tfroutd

GPIB

gp_redd

GPIB

gp_redah

GPIB

gp_redrst

RFD

gp_findlstn




OAPI
D1 REX5052 GPIB ( )

gp_clr(Q), gp_wrt(), gp_red(), gp_trg(), gp_rds(), gp_rds1Q),
gp_lcl(), gp_tfrout(), gp_tfrin(), gp_tfrinit()

gp_clr("3,5™"); // 3 5 SDC
gp_wrt("6,20,30", "*CLS™); // 6 20 30 "*CLS"
gp_red("3,20", buf, bufLen); /* 3 20
3 */
gp_rds("3,20", status_byte); /* 3 20
*/
@) GPIB
96(0x60h)+
gp_clr('3,111"); /* 3, 15 SbC
*/




int gp_attach ()

REX5052
REX5052
(IN)
REX5052 REX5052
NULL
gp_detach () REX5052

VOID gp_detach (int num)

REX5052

num (IN) REX5052




int gp_cardinfo(unsigned int *plOBase, unsigned int *plrgNo);

REX-5052 PCCard 10Base Irq

*pl0Base (0uT) 10Base
*plrgNo (IN) Irq

0

-1 DeviceloControl ()




9914

USHORT OQutPort(USHORT Reg, USHORT OutVal)

GPIB (4-2 )
Reg (N
(0,2,4,6,8,10,12,14 )
OutVal (IN)
N
OxFFFFh

USHORT InPort(USHORT Reg)

GPIB (4-2 N
Reg (IN)
0,2,4,6,8,10,12,14 )
N
OXFFFFh




GPIB

INT gp_init(USHORT GpAdrs, USHORT I0Base, USHORT IrgNo)

REX5052  GPIB GPIB
( , )
GPIB
GpAdrs (IN) REX5052  GPIB
10Base (IN)
IrghNo (IN)
0
-1 DeviceloControl ()

60 REX5052 GPIB

INT gp_cli(void)

IFC TRUE

-1 DeviceloControl ()

GPIB IFC

10 ms




GPIB

REN

REN

INT gp_ren(void)

TRUE

DeviceloControl ()

w0

10



INT gp_clr(PCHAR adrs)

DCL SDC adrs
DCL SDC
adrs (IN) GPIB
0
-1 DeviceloControl ()
53 GPIB
63 GPIB
-5,-6,-7 USB
GPIB DCL(Device Clear)

( ) gp_clIr("™);
ATN

DATA DCL

0x14
SDC(Selected Device Clear)

( ) gp_clr("3,5");

ATN

I

DATA — UNL H LA3 H LA5 H SDC
Ox3F 0x23 0x25 0x04

11



INT gp_wrt(PCHAR adrs, PCHAR buf)

adrs GPIB ap_deln
adrs () GPIB
buf (IN)
0
-1 DeviceloControl ()
53 GPIB
63 GPIB
64
-5,-6,-7
3 "D2ABC"

( ) gp_wrt("3","D2ABC");

ATN __——1 l

DATA —— UNL [{ MTA HLAHD| BHcHCRHLF———

0x23

12



INT gp_red(PCHAR adrs, PCHAR buf, INT bufLen)

adrs GPIB
gp_delm ( EOD)

adrs (IN) GPIB

buf (ouT)
buflLen (IN)

-1 DeviceloControl ()
53 GPIB

61 (

63 GPIB

64

-5,-6,-7

GPIB
ATN

DATA

UNL HTAH MLA HaH2} [Al{B[{CRHLFH UNT ——

EOI

13



INT gp_trg(PCHAR adrs)

GET

adrs (IN) GPIB
0
-1 DeviceloControl ()
53 GPIB
63 GPIB
-5,-6,-7

3 5 GET(Group Execute Trigger)
( ) gp_trg(*3,5");

ATN

DATA

UNL HLA3H LAS H GET |

0x23 0x25 0x08

14



INT gp_wsrq(INT WaitSecTime)

SRQ
) SRQ

WaitSecTime () SRQ

0 SRQ
-1 (SRQ )

INT gp_wsrgb(INT WaitSecTime)

SRQ

SRQ

WaitSecTime () SRQ

0 SRQ
-1 (SRQ )

15



GPIB

INT gp_rds(PCHAR adrs, PUCHAR status_byte)

adrs (IN) GPIB

status_byte (0UT)

0

-1 DeviceloControl ()
53 GPIB

63 GPIB

-5,-6,-7

ATN __T r________L____________r__
oata  —LUNLH LA HsPeH TA H sB HsPDHUNT—
0x18 0x19
B -
SPE :
SPD :

16



INT gp_rds1(PCHAR adrs, PUCHAR status_byte)

gp_rds UNT(Untalk)

adrs (IN) GPIB

status_byte (0UT)

0

-1 DeviceloControl ()
53 GPIB

63 GPIB

-5,-6,-7

GPIB

ATN — (—_______l—_____r___________
DATA —J UNL H SPE [H TA H sB H SPD |———

0x18 0x19

SB :
SPE :
SPD :

17



INT gp_srq(INT SrgMode, PAPIFUNC pFunc)

SRQ

SrgMode (IN) (0:
pFunc ()

0

-1 DeviceloControl ()

71 SRQ (

18



INT gp_Icl(PCHAR adrs)

GPIB

adrs (IN) GPIB

-1 DeviceloControl ()
53 GPIB

63 GPIB

-5,-6,-7

REN High(FALSE)
( ) gp_lel(™);

FALSE

"\

REN icl
TRU ) 9P

GTL(Go To Local)

( ) gp_lcl("3,5");

ATN  ——— |
DATA ———— UNL [ LA3 |H LA5 H GTL |

0x23  0x25 0Ox01

REN

19



INT gp_llo(void)

GPIB LLO(Local Lock Out)

0

-1 DeviceloControl ()

53 GPIB

-5,-6,-7

GPIB
ATN L |
Al
DATA | LLO |
0x11

INT gp_tmout(INT SecTime)

10
................. SeCT i me ( I N) ( )
0
-1 DeviceloControl ()
72
(10 ) gp_initQ gp_init()

655

20



INT gp_setdelay(INT DelayTime)

ATN TRUE FALSE

GPIB

DelayTime (IN) (
0

-1 DeviceloControl ()

INT gp_count(void)

GPIB GPIB
gp_red, gp_tfrin, gp_tfrins, gp wrt, gp_tfrout

21



INT gp_delm(PCHAR mode, UINT dIm)

(gp_wrt) (gp_red)
CR+LF LF(Ox0A)
mode (IN) 17 et
ccpr>
dim (IN)
0
-1 DeviceloControl ()
gp_init() gp_init()
dim
( ) mode = ““t*”
Bité Bit0 7bit Bit7 1 EOI
bit 0(dIm=0) CR+LF(0Ox0OD 0xO0A)
( ) mode = ““1””
Bit7 Bit0 8bit EOI
( ) mode = ““b””
dim ““t”
T
dIm = 0x0400
dIm = 0x000D CR
dIm = Ox000A LF
dIm = 0x0200 CR+LF
dIm = 0x0C00 EOI
dIm = 0x080D CR+EOI( CR EOI )
dIm = 0x080A LF+EOI( CR EOI )
dIm = 0x0A0Q CR+LF+EOQI( CR+LF EOI )
mode=““b~~ gp_wrt(),gp_red()

22



GPIB

INT gp_tfrout(PCHAR adrs, INT bufLen, PCHAR buf)

adrs GPIB EOI

adrs (IN) GPIB
buflLen (IN)
buf (IN)
0
-1 DeviceloControl ()
53 GPIB
63 GPIB
64
-5,-6,-7

ATN ] |

DATA —UNLH MTAH LA |H b1 H D2 }-{D1023|-{D1024 |-

Ol 0x40 0x23

T

23



GPIB

INT gp_tfrin(PCHAR adrs, INT bufLen, PCHAR buf)

adrs GPIB
EOI EOI
adrs (IN) GPIB
buflLen (IN)
buf (ouT)
0
-1 DeviceloControl ()
53 GPIB
61 (€01 )
63 GPIB
64
-5,-6,-7
ATN | [
DATA —JUNLH TAH MLA H D1 H D2 | |D1023}{D1024 HUNT|——

EOI

0x43 0x20

L

24



INT gp_tfrinit(PCHAR adrs)

GPIB
(gp_tfrins, gp_tfrend )
adrs (IN) GPIB
0
-1 DeviceloControl ()
53 GPIB
63 GPIB
-5,-6,-7
gp_tfrin 3 gp_tfrinit,
gp_tfrins, gp_tfrend
gp_tfrins
( ) 3 gp_tfrins EOI

EOI
BYTE RxBuf[256];

gp_tfrinit('3™); //
gp_tfrins(256, RxBuf); // 256Byte
gp_tfrins(256, RxBuf);
gp_tfrins(256, RxBuf);

(EOI )
gp_tfrend(); 7/

25



INT gp_tfrins(INT bufLen, PCHAR buf)

GPIB EOI
(gp_tfrinit, gp_tfrend )

bufLen (IN)

buf (ouT)

24 EOI

-1 DeviceloControl ()
53 GPIB

64

-5,-6,-7

VOID gp_tfrend(void)

GPIB
(gp_tfrinit, gp_tfrins )

26



INT gp_wtb(PCHAR buf)

ATN TRUE
NULL (0x00)
buf (IN)
0
-1 DeviceloControl ()
53 GPIB
64
-5,-6,-7
GPIB
ATN — ] |

DATA — UNL — LA — GTL |

Ox3F 0x23 0x01

INT gp_myadr(void)

gp_init REX5052  GPIB

REX5052  GPIB

N REX5052  GPIB

-1 DeviceloControl ()

27



VC >  VOID gp_wait(int WaitSecTime )

WaitSecTime () ( )

28



INT gp_srqgCheck(void)

SRQ

1 SRQ TRUE

0 SRQ FALSE

-1 DeviceloControl ()

29



INT gp_wrtd(PCHAR buf, INT bufLen)

GPIB gp_delm
buf (IN)
buflLen ()
0
-1 DeviceloControl ()
53 GPIB
64
-5,-6,-7
gp_wrt

gp_wtb

ATN H
DATA DH2HAHBHCHCRHLF|

30



INT gp_tfroutd(INT bufLen, PCHAR buf)

GPIB

buflLen (IN)

buf (IN)

0

-1 DeviceloControl ()
53 GPIB

64

-5,-6,-7

gp_tfrout
EOI gp_delm
gp_wtb

ATN H

I

DATA D1 D2 D1023 HD1024

31



INT gp_redd(PCHAR buf, INT bufLen)

GPIB gp_delm

buf (0uT)

buflLen (N

24

-1 DeviceloControl ()
53 GPIB

64

-5,-6,-7

gp_red UNT
RFD
gp_wtb

ATN H

DATA D12HABHCHCR}|LF|

32



INT gp_redah(PCHAR adrs, PCHAR buf, INT buflLen)

adrs GPIB
gp_delm
)
adrs (IN) GPIB
buf (ouT)
buflLen (IN)
0
-1 DeviceloControl ()
53 GPIB
61 (
63 GPIB
64
-5,-6,-7
gp_red UNT
RFD
ATN
|
DATA  — UNL HTAH MLA H1}{2]{A]{B}{cR]

33



INT gp_redrst(void)

RFD

0
-1 DeviceloControl ()

INT gp_findlstn(PCHAR adrs, INT adrsLen)
GPIB GPIB
adrs (OUT) GPIB
adrsLen (IN)
0
-1 DeviceloControl ()
53 GPIB
64
N

GPIB ASCII adrs

adrs gp_wrt(), gp_red()

64 adrs

34



